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Terminology (12 COM)
1. Match eachterm in the left column with the best definition in the right column,

e “ﬁ)’:ﬁ)mial ,{ To raise a power to an exponent, keep the base and multiply the exponents.
ynomial /b" Write a mathematical expression in a simpler form.
_b_{d plify & A symbol, usually a letter, which represents an unknown or unspecified value.
_L quation A7 The sum of the exponents on the variables in a term.
%_-/(pi’ke Terms A A polynomial with exactly two terms.
_l_V/[/)if.u'ibutive Law ,{/ f;?dn:xﬁ;:ﬂlc:;i?;ﬁ ‘combmmg constants and/or variables using any
_a_% 3 ).r - 4/ Terms Fhat contain exactly the same variable part, that is, exactly the same literal
. coefficient.

,l( An algebraic expression in which each term consists of constants and/or variables

Pylhagoman EE o combined using only multiplication (including powers).
]j ‘/ Dégree of a Term /a(x+y)=ax+ay
. Any mathematical calculation combining constants and/or variables using any
——w.l— '_['/e e operations except for addition and subtraction.
C “/‘V_fariable A A mathematical statement asserting that two expressions are equal.
_'F_,/ﬁxpression /|/ c=a+b

Modified True/False (3 KU)
Indicate whether cach statement is frue or false. If false, change the underlined part to make the statement true.
— 6" means “six reduced by a number.”,

2. T/F E Theexpressson Change:é &/
V{): é mar #’\

3. TIF F The cxprcssaon “2 + x + 5" means “double a number increased by 5.” Change: Qx'f‘ 5 A

_EV/ = e " & " 'D- o 7 l/&/
4. T/F The expression “4n — 7" means “one-quarter of a number decreased by 7. Change: g#
Multiple Choice (3 KU) ' 7%:7] -7

Identify the choice that best completes the statement or answers the question.

Ll
L1}
5. Which expression represents the area of the square shown at the right?

@ 4/ (b) 8+ (© 8x @) 2%

6. In which pair are the exp ss:ons equivalent?

(a) Sm* and (5m)’ %nd ¥z (o) 2( ) and 2¢"°  (d) -34°and ( 3a) N

g
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7. If a=-2 and ¢ = 5, what is the value of the expression a‘: +cz T t’a?'S & H ‘&5 "” /4
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Full Solutions (10 COM)
8. Evaluate. (8 KU)

(a) —3(5’—43)—6(61—52) (b) 21’—53,ift=% and s=2
g -3
3@ -6(20-35), = &) )
==3q ) ~eln) -~ - l___(L) -5
= -A7-0b [\
< "qB / = ‘};‘ = % _/,--'-'
= =iF 3
" 2. L~
9. Simplify. (11 KU)
(a) (x2+5x+3)—(-—x2—?x+2) :(b) (__)(4(?)— '(c) 2y(y—4)—3y(y—4)
W53t O nR) L 4e(3 6% "Gy Sy Ay
= fx%rxﬂm T - 9\/“ P “" A =3y -8y +l2y
= q&fg(a 1—6}51-77‘ +3}/,’J\ Q'r EE,E 1;1/ > g = }’l'f'q‘)/ M
Sh BN T o4t \ L~
<ox ¥kt | PV
= o at? g/ |
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10. Write an algebralc expression, in simplest form for thc perimeter of the figure H

P= 2(%3) + R (3x- xﬁ;w/ !

= ?&H@ + 6?{ -l — Cf’ v B -
= A+ Bx —dAn+r~F,

= Gn? +lox + 4




11. Write an algebraic expression, in simplest form, for the area of the figure at the
right. (3 APP)

Ah=5 @)

>T T

12. Write an algebraic expression, in simplest form, for the volume of the prism shown at the right. (Note that for a
prism, ¥V ={xwxh.) (3 APP)

Vs 4y(3,)(6y)

= ‘fﬁ)(é)yyy o
= 75;\Y? e

4y

13. Two friends, Elliot and Dang, are travelling to the airport in two different taxis, The taxi company used by Elliot
charges a $5.00 flat fee plus $0.50 for every kilometre. In Dang’s case, the taxi company charges a $3.00 flat fee plus
$0.70 for every kilometre. (6 TIPS)

(a) Write two expressions. one that represents Elliot’s cost of travellin ¢ by taxi and another that represents Dang’s
cost of travelling by taxi.

e~ distane. Elliot fravelled d =2 distence Dang Frave/ o
Eliot: 54 ,5%¢_ | Dang: 3+, 7 of

(b) Write an expression that represents Dang’s and Elliot’s fotal cost of travelling by taxi.
p g 2 by

Tota| cost-= 5+05e + 370. 7o/
= 5_1‘3 +0.5e +O. 70)/
= B +0.Se. HO. 7o
(¢) If Elliot travelled 35 km and Dang travelled 75 km. how much money did each friend spend?
Elliot's cost pq,ﬁ's oS- C’Zg *ﬁxi‘ria/c
= 5+0.5e > 2+0.74d 4 _EH’OT KU | APP | TIPS | COM
= 5 +0.5(35) = 3 +0.7(75) A250 wdf AR TS | COM
=5TlZs =425 23535 Dang 8555

— ’



14. The table below summarizes the results of an experiment studying bacterial growth. At the beginning of the

experiment, there are ten bacteria in a dish. Every 12 hours, the number of bacteria doubles. (5 TIPS)

T L iees . b e
s 1Y L L T et TR
10

12 10x2=20 |
0 (10x2)x2=10x2’

=140
3z (10x2%)x2=10x2’

=80
0 (10x2*)x2=10x2"

=160

f 5
= 30

oxd5 k. = 10x2”
72 e,

(10x 22) x = Jox3 .
8% = | dF0

CEREE oA °

616 ;Q%O

(a) Extend the values in the table for the next two days.

(b) Assuming that the growth rate remains constant, use the pattern in the table to caloulate the number of bacteria
you would expect to find after 7 days.

£ o
PQ%‘.’;Q{ Number of bacteria = 10X X !a/’wkﬂr'e, £= % heurs
Afler seven days, €= /(2f) = (6B

2
' Number of bactrig = (OX ;\i;
= (0




